BbluncneHue 3HauYeHU arcsin, arccos, arctg.

Tadoauia 3 HAYECHU N

I m hia i3
0 5 : 3 2
arcsina | 0 L 2 3 1 0
2 2 2
arccosa | 1 g % . 0 -1
arctg a 0 1 1 3 0
g 7 - _
3
3
arcsin (-a) =-arcsin o sin (arcsin a) = a
arccos (-a) = m-arccos o cos (arccos a) = a
arctg (-a) =-arctg a tg (arctg a) = a

Bbl4NMCANTb 3HAYEHUSA BbIPaXKEHUN:

1. arcsin 1
W2
2. arccos 2
3. arctg(- 3 )
B3
4.  sin(arccos 2 )

1
5.  ctg(arcsin (- 2 )
3
6. cos(arctg 3 )
L
7. arcsin 2 +3 *arccos (-1)




E 7
2

8. arctg (- 3 ) - arcsin
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